H & 0l & AHS B Ml A

QA AL
33 oS WSHA 75 & TADE g2d
ool E2IHM EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL F M 1,486,149 1,237,006 249,143
selgt WEMA A5 & TAIzE 2 66,240 253,330 A187,090
C2E 50,000 231,080 /181,080
CEAEE BHEdXRA € BE 50,000 80,000 30,000
401 AlZHIZ SO 50,000 80,000 30,000
01 A28l 50,000 80,000 230,000
OE=ZHENE ElddxA & BE
50,000,000 50,000
2 FA2el 16,240 22,250 26,010
CRHEN 2 & 2l 16,240 22,250 26,010
201 er23 | 10,000 13,850 23,850
01 At2teltl 10,000 13,850 /3,850
OIETSARE BAH4Y
100,000 x 102 *43] 4,000
OAEINHZBAHY HLZA 225 7L 3,000
—PVCIt= 7002 *1,5000H 1,050
—EZ 3K 800& *1,5000H 1,200
—Zotel= 5003 *1,5000H 750
OHEIATZABG HEZA QS 214
3,000,000 3,000
202 04| 240 0 240
01 =LHOLI 240 0 240
OS24 04l 20,0002 x2 & 62| 240
203 HR=H] 6,000 6,000
03 A=A =AY 6,000 6,000
Ok=z2E 2 HRF 6,000,000& 6,000
et Tolels SAIHE 422,800 2,800 420,000
THEHO 22t 422,800 2,800 420,000
Aloterd 2|22l 28 2,800 2,800 0
201 2= 2,800 2,800 0
01 AtR2t2lt] 2,800 2,800 0
OREAl Xlotetde(d3 =&
100,000 *7& *43] 2,800
L2 olF SSEAMEY 420,000 0 420,000
401 AlEHIZ S 0HbI 420,000 0 420,000
01 Al&H| 420,000 0 420,000
OLZ o7 SSEAES
420,000,000 420,000
Otdold Heldt EEsdAd 913,520 897,647 15,873
Alots2t g & 2el 913,520 897,647 16,873
S35+ 29 913,520 897,647 16,873
201 Ler23| 106,883 119,463 212,580
01 At2teltl 27,330 26,130 1,200




SH: AE™
M QHNGHD Holst S2EAXY
el Xlots2t e & 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oss+ Le=EH| 300,000& * 12 3,600
O3S+ &l =Z L=t 4,050
—225 50,0002 x0H *23] 900
—22%t 50,0002 x0H *23] 900
—gets 80,0002 +x0& 720
—&etat 70,0003 9% 630
—&st2 10,0002 %9 D
— ety 20,0003 +9& 180
—OrOIAZED) 60,0002+ 540
— 10,0002 92 %0
OBET M| 30,0002%205+75] 4,200
OZETRRIHS BHLL
100,000 3 »23] 600
ORIIQHAA T44+R
350,000& * 122 4,200
Ogstate] iz 850,000 * 12 10,200
OSSTIP SAE tlZ
40,0002 122 480
02 S3=gHl 79,553 93,333 213,780
o887 &dJIes 21,849
—Jl=ks 8,230 *Q0kith~ 12 8,889
—d=8Ee3 1202 %9, 000kith* 122 12,960
OXNEHER= 400,000 12& 4,800
Odotre= 65,0002« 128 780
OBET A& 35,000,000} 35,000
Ol AIZ SalIE 250,000 122 3,000
ORH 28 288 40,0002+ 122 480
OSFIITRS 44123
25,000 +6LH* 122 1,800
OZ5+ AUSHOAIAE KX2tel]
987,000& 122 11,844
202 04l 1,200 1,200
01 =LHAHI 1,200 1,200
OZET 3|o&A L HAX 245t Ol
100,000& * 122 1,200
308 AtXIEMSOIE 587,186 561,219 25,967
11 S| 2SI U ZBSHASAIE 587,186 561,219 25,967
OR&S ot oIt 2&H A
587,186,000 587,186
401 Al HIZL 01| 165,765 215,765 /50,000
01 Al&H| 165,000 215,000 50,000
sSEs7 I IHHEHEY
22,000,000& »23] 44,000




QA AL
M QHNGHD Holst S2EAXY
el Xlots2t e & 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZs2s7 2422 2N
85,000,000& 85,000
OssEs+ )7 2287 Atlel dAS
At 1,200,000 300K 2 36,000
03 Al 20HHI 765 765 0
OES2E? 2422 2N
85,000,000 0. %% 765
403 AXIEHMSAH=0lH 52,486 52,486
02 SJ|2S0te S A AEHI 52,486 52,486
OF&ESAot=a It MHEH A
52,486,000& 52,486
HY2IHH(ALF 2 83,589 83,229 360
Jl=3H 83,589 83,229 360
Jl=3H] 83,589 83,229 360
201 er23| 47,349 47,349
01 At2t2ltl 23,760 23,760
ORNEgII=23H| 23,760
—2et=SH| 40,0002 22+ 12 10,560
—=&| 50,0003 x22E 128 13,200
2 Ss2g4l 23,589 23,589 0
OoRER3 16,789
—gpted 4303 +7,3004 3,139
—SJ1d 2,530&#5,0002 12,650
o&ExtE 78l 7,800
— X 288 600,000 *3CH 1,800
— NS XA 200,000 «3CH 600
"EH & KA
150,000 *3CH* 12 5,400
202 048l 32,040 31,680 360
01 2L AL 32,040 31,680 360
OgRFa|=0H|
120,000 x22E 122 31,680
O=Ra =4 238 U= 0yl
180,000& x2& 360
203 HR=AH] 4,200 4,200
M A=A 4,200 4,200
ORANEgg =AY 350,000 x 12 4,200




